MATHS

BOOKS -V PUBLICATION

CONIC SECTIONS

Question Bank

1. Find an equation of the circle with centre at

(0,0) and radius 2.

[ o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KXlN7kiuwdRb

2. Find the equation of the circle with centre

( — 3, 2)and radius 4 .

o Watch Video Solution

3. Find the centre and the radius of the circle

2+ +8x+10y—8=0

o Watch Video Solution



https://dl.doubtnut.com/l/_KXlN7kiuwdRb
https://dl.doubtnut.com/l/_nDz4s84NeOsS
https://dl.doubtnut.com/l/_Xco5x3JFzXAX

4. Find the equation of the circle which passes
through the points (2, — 2) and (3,4) and

whose centre lies on thelinexz 4+ y = 2

o Watch Video Solution

5. Find the equation of the circle in following
cases.

centre (0,2) and radius 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_YhDdEXw68cTA
https://dl.doubtnut.com/l/_HGSYG8OudxCb
https://dl.doubtnut.com/l/_OQCFe64goc2O

6. Find the equation of the circle in following
cases.

centre (-2,3) and radius 4.

o Watch Video Solution

7. Find the equation of the circle with Centre
1 1 4 rad 1
5 7 ) andradius —.

o Watch Video Solution



https://dl.doubtnut.com/l/_OQCFe64goc2O
https://dl.doubtnut.com/l/_xVHCwJ2fRYkq

8. Find the equation of the circle with Centre

(1, 1) and radius +/2.

o Watch Video Solution

9. find the equation of the circle with Centre

— a, — b) and radius v/a® — b?
( ) Y%

o Watch Video Solution



https://dl.doubtnut.com/l/_olVMHFdrSs5F
https://dl.doubtnut.com/l/_jC7WHjHAYmoM

10. Find the centre and radius of the circles

(x +5)° + (y— 3)° = 36.

o Watch Video Solution

11. Find the centre and radius of the following

circles.

2?4y — 4z —8y—45=0

o Watch Video Solution



https://dl.doubtnut.com/l/_3KExj3lyIYHZ
https://dl.doubtnut.com/l/_RX5IzktUnhzJ

12. Find the centre and radius of the circle.

z? + 9y — 8z + 10y — 12 = 0.

o Watch Video Solution

13. Find the centre and radius of the following
circles.

222 +2y° —z =0

o Watch Video Solution



https://dl.doubtnut.com/l/_Y2tsuZwFiaPv
https://dl.doubtnut.com/l/_wmpCIloIZ4Fn

14. Find the equation of the circle passing
through the points (4,1) and (6,5) and whose

centre is on the line4x + y = 16

o Watch Video Solution

15. Find the equation of the circle passing
through the points (2,3)and ( — 1,1) and

whose centreison thelinex — 3y — 11 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_RAWYKmWHrhcm
https://dl.doubtnut.com/l/_zTwHqYvuNDVD
https://dl.doubtnut.com/l/_m3MkcrQwnWZP

16. Find the equation of the circle with radius 5
whose centre lies on x-axis and passes

through the point (2,3).

o Watch Video Solution

17. Find the equation of the circle passing
through (0,0) and making intercepts a and b

on the coordinate axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_m3MkcrQwnWZP
https://dl.doubtnut.com/l/_PxfGmCqaAwxm
https://dl.doubtnut.com/l/_EWbRMqSmSSHA

18. Find the equation of the circle with centre

(2,2) and passing through the point(4,5).

° Watch Video Solution

19. Does the point ( — 2.5,3.5) lie inside,

outside or on the circle z? + y* = 257

o Watch Video Solution

20. Find the Focus, vertex and latus rectum of

the parabola y* = 8z.


https://dl.doubtnut.com/l/_EWbRMqSmSSHA
https://dl.doubtnut.com/l/_8pDLaUi2kA2k
https://dl.doubtnut.com/l/_a20Dekrc0acu

° Watch Video Solution

21. Find the equation of the parabola with

focus (2,0) and directrix x=-2

o Watch Video Solution

22. Find the equation of the parabola with

vertex at (0,0) and focus at (0,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_a20Dekrc0acu
https://dl.doubtnut.com/l/_zIFSLbcJhNnv
https://dl.doubtnut.com/l/_6iPNee0NaXhd
https://dl.doubtnut.com/l/_Sxc01tO69jJo

23. Find the equation of the parabola which is
symmetric about the y- axis, and passes

through the point (2, — 3)

° Watch Video Solution

24. Find the coordinates of the focus, axis of
the parabola, the equation of the directrix and

the length of the latus rectum 3> = — 8z

° Watch Video Solution



https://dl.doubtnut.com/l/_Sxc01tO69jJo
https://dl.doubtnut.com/l/_sYmjhkih9EKo
https://dl.doubtnut.com/l/_buKHZ7gN9Cgz

25. Find the coordinates of the focus, axis of
the parabola, the equation of the directrix and

the length of the latus rectum 3> = — 8z

° Watch Video Solution

26. Find the coordinates of the focus, axis of
the parabola, the equation of the directrix and

the length of the latus rectum z° = — 16y

° Watch Video Solution



https://dl.doubtnut.com/l/_buKHZ7gN9Cgz
https://dl.doubtnut.com/l/_prFz1b2MjJRZ

27. Find the coordinates of the focus, axis of
the parabola, the equation of the directrix and

the length of the latus rectum y* = 10z

o Watch Video Solution

28. Find the coordinates of the focus, axis of

the parabola, the equation of the directrix and

the length of the latus rectum z? = — 9y

o Watch Video Solution



https://dl.doubtnut.com/l/_QoEt4JCGka4v
https://dl.doubtnut.com/l/_2xBzADsQ7Pj2
https://dl.doubtnut.com/l/_22FJHiggLoCF

29. Find the equation of the parabola
satisfying the following condition,

focus(6,0), directrix x = — 6.

o Watch Video Solution

30. Find the equation of the parabola,Focus

(0, — 3),directrixy = 3

° Watch Video Solution



https://dl.doubtnut.com/l/_22FJHiggLoCF
https://dl.doubtnut.com/l/_kZEqqNv3RS5n

31. Find the equation of the parabola
satisfying the following condition,

Vertex (0,0), Focus (3,0).

o Watch Video Solution

32. Find the equation of the parabola,Vertex

(0,0) focus (-2,0).

° Watch Video Solution



https://dl.doubtnut.com/l/_amauNZCQUVwh
https://dl.doubtnut.com/l/_u4q48KStDMjK

33. Find the equation of the parabola
satisfying the following condition,
Vertex (0,0) passing through (2,3) and axis

along x-axis.

° Watch Video Solution

34. Find the equation of the parabola whose
vertex is (0,0) which is passing through (5,2)

and which is symmetric with respect to y-axis

° Watch Video Solution



https://dl.doubtnut.com/l/_HV0qmh8OObdc
https://dl.doubtnut.com/l/_eU38pT4tQw5P

35. Find the coordinate of the focithe length

of the major axis, minor axis, latus rectum and

2 2

T
tricity of the elli =1
eccentricity of the ellipse 5% + 9

° Watch Video Solution

36. Find the coordinates of the foci, the
vertices, the lengths of major and minor axes

and the eccentricity of the ellipse

922 + 4y? = 36.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_eU38pT4tQw5P
https://dl.doubtnut.com/l/_Zmi1BBVOxYIr
https://dl.doubtnut.com/l/_2IPnlq1A8CRx

37.Find the equation of the ellipse vertices are

( + 13, 0) and foci are ( &+ 5, 0)

o Watch Video Solution

38. Find the equation of the ellipse whose

length of the major axis is 20 and foci are

(0, £ 5).

o Watch Video Solution



https://dl.doubtnut.com/l/_2IPnlq1A8CRx
https://dl.doubtnut.com/l/_icrQeleShgQ7
https://dl.doubtnut.com/l/_rGHMPUn3rnSr
https://dl.doubtnut.com/l/_0m2APSC5L6cY

39. An ellipse whose major axis as x-axis and
the centre (0,0) passes through (4,3) and (-1,4).

Find is eccentricity.

o Watch Video Solution

40. Find the coordinates of the foci, the
vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

2 Y2
latus rectum of the ellipse.— + — =1

36 16

° Watch Video Solution



https://dl.doubtnut.com/l/_0m2APSC5L6cY
https://dl.doubtnut.com/l/_gvawI8gA9O43

41. Find the coordinate of the foci, the
verticles,the length of major axis, the minor
axis, the eccentricity and the length of the

latus rectum of the ellipse.

2y

L 2_1
1%

o Watch Video Solution

42. Find the coordinate of the foci, the
verticles,the length of major axis, the minor

axis, the eccentricity and the length of the


https://dl.doubtnut.com/l/_gvawI8gA9O43
https://dl.doubtnut.com/l/_pFAaFhs2W8m2
https://dl.doubtnut.com/l/_oFb89tMv4kZ8

latus rectum of the ellipse.

22 Y2
=z 21
16 * 9

o Watch Video Solution

43. Find the coordinates of the
focii,vertices,eccentricity and the length of the
latus Rectum of the ellipse

100z + 25y% = 2500.

o Watch Video Solution



https://dl.doubtnut.com/l/_oFb89tMv4kZ8
https://dl.doubtnut.com/l/_ou6Mxdw2T4QL

44. Find the coordinates of the foci, the
vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

22 Y2
latus rectum of the ellipse.~— + — =1

49 ' 36

o Watch Video Solution

45. Find the coordinates of the foci, the
vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

22 Y2
latus rectum of the ellipse.— + — =1

100 400

| e |


https://dl.doubtnut.com/l/_B5219UsV2gXs
https://dl.doubtnut.com/l/_nazTkwY73kpY

& Wwatch Video Solution I

46. Find the coordinates of the foci, the
vertices, the length of major axis, the minor
axis, the eccentricity and the length of the

latus rectum of the ellipse.16z* + y* = 16

° Watch Video Solution

47. Find the ellipse satisfying the following
conditions:

vertex ( £ 5, 0), foci ( + 4, 0)


https://dl.doubtnut.com/l/_nazTkwY73kpY
https://dl.doubtnut.com/l/_OHNrDlLehdgZ
https://dl.doubtnut.com/l/_uh6psBpVjMLH

° Watch Video Solution

48. Find the equation for the ellipse for

Vertices (0, + 13), foci (0, £+ 5)

o Watch Video Solution

49, Find the equation for the ellipse for

Vertices ( + 6, 0), foci ( 4, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_uh6psBpVjMLH
https://dl.doubtnut.com/l/_TbbjmySZIOO3
https://dl.doubtnut.com/l/_EyAdPEC5OkVd
https://dl.doubtnut.com/l/_dTqFz6rNoalx

50. Find the equation for the ellipse for Ends

of major axis ( + 3,0), ends of minor axis

(0, + 2).

° Watch Video Solution

51. Find the equation for the ellipse for ends of
major axis (O, T \/3), ends of minor axis

(+1,0)

° Watch Video Solution



https://dl.doubtnut.com/l/_dTqFz6rNoalx
https://dl.doubtnut.com/l/_lcdNA0rphXFK
https://dl.doubtnut.com/l/_87Smxgy12A3C

52. Find the ellipse satisfying the following
conditions:

Length of the major axis 26, foci( + 5, 0).

° Watch Video Solution

53. Find the equation for the ellipse for Length

of minor axis 16, foci (0, =+ 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_87Smxgy12A3C
https://dl.doubtnut.com/l/_LRDX2qpQtDlf

54. Find the equation for the ellipse for Foci

(£3,0),a =4

o Watch Video Solution

55. Find the ellipse satisfying the following
conditions:
b = 3, c = 4, centre at origin, foci on the x-

axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_irlpCCgPEl0m
https://dl.doubtnut.com/l/_1qzH0zhSCH3S
https://dl.doubtnut.com/l/_5fzY4w36U1zB

56. Centre at (0,0), major axis on the y-axis and

passes through the points (3,2) and (1,6).

° Watch Video Solution

57. Find the equation for the ellipse for Major
axis on the x-axis and passes through the

points (4, 3) and (6, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_5fzY4w36U1zB
https://dl.doubtnut.com/l/_WbIRqas5nN2Z

58. Find the coordinates of the foci and the
vertices, the eccentricity, the length of the

latus rectum of the hyperbolas

22 Y2
Ql) 9 16

Q2)y” — 16z° = 16

o Watch Video Solution

59. Find the equation of the hyperbola with

11
foci (0, £ 3) and vertices (0, + %) :

o Watch Video Solution



https://dl.doubtnut.com/l/_yMghmfWVBnwP
https://dl.doubtnut.com/l/_sIuWlebXetYS

60. Find the equation of the hyperbola where
foci are (0, + 12) and the length of the latus

rectum is 36

o Watch Video Solution

61. Determine the eccentricity and length of

w2

2
Y

lat t fthe h bola — — =— =1
atus rectum of the hyperbola — 9

° Watch Video Solution



https://dl.doubtnut.com/l/_sIuWlebXetYS
https://dl.doubtnut.com/l/_rhxYKMkt0XMQ
https://dl.doubtnut.com/l/_uUqWy4NEo9Dr
https://dl.doubtnut.com/l/_fK7rTMZVIAEA

62. Find the coordinates of foci, the vertices,
eccentricity and length of latus rectum of the

following hyperbolas.

2 2
vy _r _q
9 27

o Watch Video Solution

63. Consider the conic find 9y — 42% = 36

Length of latus rectum.

o Watch Video Solution



https://dl.doubtnut.com/l/_fK7rTMZVIAEA
https://dl.doubtnut.com/l/_yEb7eDIhtTZl
https://dl.doubtnut.com/l/_uKC6KRdTvYWt

64. Find the coordinates of the foci and the
vertices, the eccentricity and the length of the

latus rectum of the hyperbolas for

1622 — 9y* = 576

o Watch Video Solution

65. Find the coordinates of foci, the vertices,
eccentricity and length of latus rectum of the
following hyperbolas.

5y° — 9z° = 36

o Watch Video Solution



https://dl.doubtnut.com/l/_uKC6KRdTvYWt
https://dl.doubtnut.com/l/_7xzSaOArQpWg

66. Find the coordinates of the foci and the
vertices, the eccentricity and the length of the

latus rectum of the hyperbolas for

49y® — 1622 = 784

o Watch Video Solution

67. Find the equations of the

hyperbola,Vertices (0, + 5), foci (0, + 8).

o Watch Video Solution



https://dl.doubtnut.com/l/_7xzSaOArQpWg
https://dl.doubtnut.com/l/_esXEjI4pTr11
https://dl.doubtnut.com/l/_Eg6shK1RWO9E

68. Find the equations of the

hyperbola,Vertices (0, + 3), foci (0, + 5).

o Watch Video Solution

69. Find the hyperbola satisfying the following
conditions:
Foci ( £+ 5, 0), the transverse axis is of length

8.

° Watch Video Solution



https://dl.doubtnut.com/l/_Eg6shK1RWO9E
https://dl.doubtnut.com/l/_LgaCWiXEViJU
https://dl.doubtnut.com/l/_kDjtftglmVyA

70.Find the hyperbola satisfying the following
conditions:
Foci (0, 4+ 13), the conjugate axis is of length

24.

° Watch Video Solution

71. Find the equations of the hyperbola,Foci

( £ 34/5, 0), the latus rectum is of length 24 .

o Watch Video Solution



https://dl.doubtnut.com/l/_Rsm3CEBrMrdF
https://dl.doubtnut.com/l/_tLSYRxRMhVSg
https://dl.doubtnut.com/l/_fe6w4UZDd6Pj

72. Find the equations of the hyperbola,Foci

( + 4, 0), the latus rectum is of length 12

° Watch Video Solution

73.Find the hyperbola satisfying the following

conditions:

4
Vertices ( + 7,0),e = 3

° Watch Video Solution



https://dl.doubtnut.com/l/_fe6w4UZDd6Pj
https://dl.doubtnut.com/l/_bxRHP7QASny2

74. Find the equations of the hyperbola,Foci

(0, £ +/10), passing through (2, 3)

° Watch Video Solution

75.Find the area of the triangle formed by the

lines joining the vertex of the parabola

z? = 12y to the ends of its latus rectum.

° Watch Video Solution



https://dl.doubtnut.com/l/_5Z1Cg96FqOtD
https://dl.doubtnut.com/l/_kWO0MnLvLnwI

76. An equilateral triangle is inscribed in the
parabola y* = 4az, where one vertex is at the
vertex of the parabola. Find the length of the

side of the triangle.

° Watch Video Solution

77. Arun draws a circle with centre at (-1,-2) and

radius 1/5. What may be its algebric equation?

o Watch Video Solution



https://dl.doubtnut.com/l/_emimtFW1RNuF
https://dl.doubtnut.com/l/_UQsIDf1o9SDN
https://dl.doubtnut.com/l/_a5bDc2G3wgq1

78. Find the equation of conic whose focus is
(—1,0) and fixed line is 4o —3y+2 =0

and eccentricity 1,/2

o View Text Solution

79. A few (circ)les are drawn below. Write their
equations with the geometrical conditions
given in each figure.

(##VPU_HSS_MAT XI C11 EO5 013 QO1##)’

° View Text Solution



https://dl.doubtnut.com/l/_a5bDc2G3wgq1
https://dl.doubtnut.com/l/_hEU721opQKzY

80. Verify that = at?, y = 2at is satisfied by

the equation y* = 4az

° Watch Video Solution

81. If P(at},2at;), Q(at3, 2aty) are two
points on a parabola y® = 4az. Find the

equation of line through PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_1IFHbuXP1C3l
https://dl.doubtnut.com/l/_aWqWY4J0Mn4n

82.If PQ) is a focal chord of the parabola.then

prove that {11, = — 1.

o View Text Solution

8. The «circle whose equation

2% + (y — 1)* = 1 has the centre....

o Watch Video Solution



https://dl.doubtnut.com/l/_s3tH6LxZNdkW
https://dl.doubtnut.com/l/_RwHnVH1IZnij

84. Find the equation of the circle whose

centreis at ( — 3, — 2) and radius equal to 7.

° Watch Video Solution

85. Find the equation of the circle whose
centre is ( — 1, 5) and which passes through

the point (4, — 3).

° Watch Video Solution



https://dl.doubtnut.com/l/_i9bQSEoHV1G2
https://dl.doubtnut.com/l/_Rmzp1kySC6D3

86. Find the equation of the circle whose area
is 154 sq. units and having 2z — 3y + 12 =0

and ¢ 4+ 4y — 5 = 0 as diameters.

o Watch Video Solution

87. For the ellipse = + 3y* = a?, find the
length of major and minor axes, foci, vertices

and the eccentricity.

o Watch Video Solution



https://dl.doubtnut.com/l/_xs5XQIcs7LVO
https://dl.doubtnut.com/l/_ALcWZoA68cJw
https://dl.doubtnut.com/l/_UjZ8eNaZmKRM

88. The foci of a hyperbola coincide with the

2

: : y?
f f the ell — 4+ — =
oci o e ellipse oF + 9 = 1 .Find the

equation of the hyperbola if its eccentricity is

2.

o Watch Video Solution



https://dl.doubtnut.com/l/_UjZ8eNaZmKRM

